o] grg Fofedel.




2. ohe T AN St BT x= 29 0, a2 - 52 9] ZHe Folofel,

2x-4 Hx-4

X
2=4 9 -
ax + X+ 9, 3 5 6

e
=



teizt.

S

o, a o] g&

Wt 2e

9|

e F g



4.

3x3—|—3(7x 3):61)63—2 O]xoﬂi"j-

o] H}A A 9] Fjo] 2 Stolat

Ck-
=



3x+T7=-5x-1

3x+5x=-1-[ |
=[]
ax= ] .

A= & 22

Ll
i

7kl Soizt 4

® 7,2,-8,-4 ® 7,8,-8,1 ® 7,8,-8,-1

@ -7.8-8, -1 ® -7.8,-8.1



.

ul



?

LSS
1

(x—3) :49] 3l

27

® 41 B 43 @ 45 B 47

@D 39






9. AN (54x): (26 ) = 11: 78 WEE x| 2 Tafoleh

Be-






11. =4 (x—&—%) : (x—6)

Be-



©

o~

B

Hip

E_E o I
= Il I
+ = =
ﬁ @ ©
=

|| <
i

|

)

T -
H_A.o Il I
s = =
X

o Q@ ©






stofzt,

_ZF_

S
=

) {14 xo 2

2(1-x




)

o_a

ol




16. ohS AATAA] FolA 0.12x - 0.1 = 0.26 T} 7} T2 A2

® 3x-6=0 @ -2x+3=-3 ®x-2=11

@ x—-5—=28 3 2x—6 =10



ta+b=

cCt
=]



—3x+27=6x,4x+a=28

@ 20 B 24

A 4

D =20



19. x o B LA (T-n) : (x4+3) =2:59 d7ta QD o,
Ta—b =20 O|t}. b O] FHEY

D 1 ® 3 3 5



,da+3

5}
=

azt

=
=

o

(2x+3):29

):3

ol
0

‘ol

@ 5 3B 3

3 2



21.

(x—=1):3=(3x+2):4 A x 2] g9

D =2 ® -6 3 0

@ 2



(4x-3):2x=2:3




23. the 2YOIA Saet] ohe] AL wh 9l9] o Go] Foetu] ok
SR A1) golth, o W x o] g Ftele,

QQQ



24.

%x+2:6(x—1) 9] 8| & FotA?

24
@1—7 @ 3 ® -2



25.

M ALY A7 LA o TR 2

1 x—2
h 1=

@) 3x+ 22
X X+
e 1=

® 6+ 3

® 2x+4=64+x

filo

1=H?

@ 3(x+1)-2=4x-1

@ —0.03x = 0.2(1.2x — 2.7)



=x-2

3(x-1)

2x—-1=x-2,

— AN~ |
|

@ x=1, x
@ x=-1, x



